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Unit 4 Computers

Homework 3 Storage devices Answers

1. Fill in the table to indicate whether the statements are true or false	[7]
	
	True
	False

	The tracks on a CD-ROM are arranged in concentric circles
	
	

	The playback mechanism of a DVD never physically touches the disk
	
	

	A CD-RW is a form of optical storage media
	
	

	Flash memory is a form of virtual memory
	
	

	A magnetic disk has one read-write head (a tiny magnet) for each surface of the disk
	
	

	A magnetic disk stores data in binary form: a magnetised area is interpreted as 1, a non-magnetised area as 0
	
	

	Cloud storage is used only by computer experts working in a secure environment 
	
	


2. (a)	What do the following stand for?
	CD-ROM Compact Disk Read Only Memory	[1]
	CD-RW  Compact Disk Re-Writable (accept Compact Disk Read/Write or other variations)	[1]
(b)	Explain how data is read from a CD-ROM 	[4]
	(Look for 4 points from the following)
	 Data is stored on a single spiral track
	The tracks are made up of pits (indentations) and lands (flats) 
	Backed by reflective material
	A laser beam shines on these pits and lands
	The reflected light patterns are read by an optical device
	That interprets the pits and lands as 1s and 0s	
		



3. (a)	Give three technical reasons why solid-state memory is commonly used as a replacement for a hard disk in notebooks and tablet PCs.	[3]
Solid state memory is very robust and has no moving parts so is less likely to suffer damage when being moved around. 
Said to be 5-10 times more durable than magnetic disk
It is non-volatile, and data stored can be erased or changed
Lower access time, faster read/write speed than magnetic disk 

 	(b)	Explain with the aid of a diagram how data is written to and read from flash memory 	[4]
An electric current is used to force electrons through a barrier and trap them on the other side
They remain on the other side until “flashed” with a new current
Trapped (charged) or not trapped = 1 or 0 
 	Electrons detected here
Current applied and electrons forced through barrier

Electrons trapped in this layer





	  [Total 20 marks]Current applied and electrons forced through barrier
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